

Order #205652



Thanks for your order!

Please find your voucher codes below.



MHD Super Tuning License for N54

TXKZDEM 

IMPORTANT! To activate this license in your MHD app, please read the following steps:

1. Download the MHD app (iOS or Android)
2. Log in to MHD (either create a new MHD account or use one of the other social login options we offer: Google, Facebook, Apple). **NOTE: please make sure to always use the same login type because your licenses are linked to it going forward!**
3. To successfully redeem your license key in the app, you must connect to your car at least once so the app has your VIN number (licenses are linked to your VIN). The easiest way to do this is ensure your adapter is connected, and then Read Error Codes (no license is required for this)
4. Finally, go the License Store screen and click Redeem Voucher. You must have an active internet connection for this step. A connection to the vehicle is not necessary as the most recent VIN was saved in the above step.

In case of any issues with the codes, please do not hesitate to contact us.

ADDRESS

MHD Tuning UG
Amelhauser Straße 27
26197 Großenkneten

CONTACT

mhd.tuning@gmail.com

INFORMATION

- [Impressum](#)
- [Terms of Service](#)
- [Legal Notice](#)
- [Privacy Policy](#)
- [Refund Policy](#)

© 2024 MHD Tuning



Euro Garage
 1725 East 69th Avenue
 Suite B
 Denver, CO 80229
 (303) 968-0365
 eurogarage303@gmail.com

Invoice for RO #4038

Service Advisor: Zach Zimmeroff
 Posted Date: 09/15/25 at 10:41 AM MDT
 Client: Ilan Brown
 Vehicle: 2008 BMW 328i Base

Ilan Brown Phone: (720) 480-7171 Email: ilan@cultcarsforsale.com	2008 BMW 328i Base 3.0L 6Cyl GAS N52 Naturally Aspirated VIN: WBAVS13598FV95109 License: N/A Color: N/A Odometer In: 152308 / Out: 152308	RO # 4038 Time-In: 09/03/25 at 10:19 AM MDT Save Parts: No
---	--	---

Client concerns:

- runs rough
- service light
- bulb out

1 - Replace Throttle Body				
Tech: Z Zimmeroff				
Labor:	Replace Throttle Body	1.00 hrs	\$160.00	\$160.00
Part:	OES Throttle body - used no warranty	1	\$80.00	\$80.00
✓ Approved on 09/12/25 at 04:38 PM MDT			Subtotal \$240.00 + est. Tax \$3.80	\$243.80

2 - Change Brake Fluid				
Tech: Z Zimmeroff				
Labor:	Change Brake Fluid	1.00 hrs	\$150.00	\$150.00
Part:	TEX Brake Fluid LV - 1 Liter	1	\$24.29	\$24.29
✓ Approved on 09/12/25 at 04:38 PM MDT			Subtotal \$174.29 + est. Tax \$1.15	\$175.44

Thank you for your business. Work is complete and your payment is due upon pickup of your vehicle. Mechanics liens and or storage fees may be placed on vehicles until repairs are paid in full. Please contact us if you have any questions work we have performed.

2 Year/20,000 Mile warranty on parts and labor.
 No warranty if parts are customer provided or used parts are installed unless specified
 Warranty does not transfer to new owner

Let us know how we have done! Please leave a review on google, facebook, nextdoor, or anywhere else!

Total Repair Order & Signature:

Total Labor: \$310.00
 Total Parts: \$104.29
 Total Fees: \$0.00
Subtotal: \$414.29
 Taxes: \$4.95
Grand Total: \$419.24
BALANCE DUE: \$0.00

X _____

✓ PAID

Completed Transactions					
09/12/25	Ilan Brown	\$419.24	Credit Card Payment	Visa**** 2924 Auth: 07287G	Visa 



EP3 Motorsports
 1900 East Tyler Road
 suite 500
 St. Charles, IL 60174
 (224) 523-6102
 zack@ep3motorsports.com
 www.ep3motorsports.com

Estimate #10793

Created: 4/1/2024
 Payment Term: On Receipt
 Service Writer: Zack Coombs



2008 BMW 328i Base

VIN: WBAVS13598FV95109
 Mileage In: 106,600
 Mileage Out: 106,635

Recommendations

MHD ACTIVATION CODE: 75ESWSA

Full vehicle inspection

Total: \$0.00

Perform Compression Test & Replace Spark Plugs/Ignition Coils

Description	Price	QTY	HRS	Subtotal
1 - Perform Compression Test, all cylinder are within factory spec - Replace spark plugs & ignition coils			2	\$300.00
2 Spark Plug, SILZKBR8D8S, Laser Iridium Part #: 97506	\$17.92	6		\$107.52
3 Direct Ignition Coil Part #: 12138616153	\$35.49	6		\$212.94

Tax (8.5%): \$27.24



Installation of Spec Stage 3+ Upgraded Clutch Kit & Steel Single Mass Flywheel

Description	Price	QTY	HRS	Subtotal
1 - Clutch Replacement including replacement of throw out bearing, clutch fork, pivot pin, flywheel bolts, etc.. - Test drive vehicle			7	\$1,050.00
2 Spec Stage 3+ clutch kit (Compatible with dual mass flywheel) Part #: SB533F	\$999.00	1		\$999.00
3 Flywheel Bolts Part #: 11227520706	\$3.33	8		\$26.64
4 Pressure plate bolt Part #: 21207548052	\$2.00	6		\$12.00
5 EP3 Motorsports steel clutch pivot pin upgrade Part #: EP3_STEEL_PIVOT_PIN	\$27.00	1		\$27.00
6 Release arm spring Part #: 21517570284	\$4.41	1		\$4.41
7 Transmission bolts Part #: 23001222894	\$8.77	5		\$43.85
8 Rear main seal Part #: 11117587168	\$24.81	1		\$24.81
9 Input shaft seal Part #: 23127501712	\$17.97	1		\$17.97



EP3 Motorsports
 1900 East Tyler Road
 suite 500
 St. Charles, IL 60174
 (224) 523-6102
 zack@ep3motorsports.com
 www.ep3motorsports.com

Estimate #10793

Created: 4/1/2024
 Payment Term: On Receipt
 Service Writer: Zack Coombs

Installation of Spec Stage 3+ Upgraded Clutch Kit & Steel Single Mass Flywheel

10	Output shaft seal Part #: 23121282458	\$18.84	1	\$18.84
11	Transmission selector shaft seal Part #: 23128677736	\$6.70	1	\$6.70
12	Drain/fill plug Part #: 23117531356	\$10.74	2	\$21.48
13	Red Line MTL Gear Oil Part #: 50204	\$31.05	2	\$62.10
14	Fly Wheel Part #: DMF112	\$599.00	1	\$599.00
15	Exhaust Manifold Gasket Part #: 18307553603	\$32.11	2	\$64.22
16	Exhaust Hanger Part #: 18207590154	\$28.64	2	\$57.28
17	Hex Bolt M5X16X0.8X8 Part #: 0057516	\$0.40	3	\$1.20
18	1/4 High Temp Silicon Vacuum Hose Part #: Part Number: HTSVH6-BLK	\$3.45	3	\$10.35

Tax (8.5%): \$169.73



Engine Oil Pan Gasket & Rod Bearing Replacement (N54 RWD)

	Description	Price	QTY	HRS	Subtotal
1	- Removal and replacement of engine oil pan gasket including all necessary hardware - After installation an oil and filter change will be performed - Under carriage of vehicle will be cleaned of all residual engine oil - Vehicle will be test driven to ensure oil leak has been corrected			10	\$1,500.00
2	VAC Motorsports rod bearing/ARP rod bolt kit Part #: VAC-HPRBK-N54	\$629.95	1		\$629.95
3	Windage tray/oil pump bolt set Part #: 11412165397	\$27.82	1		\$27.82
4	Oil pick up tube o-ring Part #: 11417527092	\$7.01	1		\$7.01
5	Oil pan gasket Part #: 11137548031	\$55.68	1		\$55.68
6	Oil Level Sender O-Ring Part #: 12611744292	\$7.77	1		\$7.77
7	Oil Pan Bolt Set Part #: 11132210959	\$51.26	1		\$51.26
8	Oil Filter Kit HU816X Part #: HU816X	\$8.93	1		\$8.93



EP3 Motorsports
 1900 East Tyler Road
 suite 500
 St. Charles, IL 60174
 (224) 523-6102
 zack@ep3motorsports.com
 www.ep3motorsports.com

Estimate #10793

Created: 4/1/2024
 Payment Term: On Receipt
 Service Writer: Zack Coombs

Engine Oil Pan Gasket & Rod Bearing Replacement (N54 RWD)				
9	5W30 Fully Synthetic Oil Part #: LM20365	\$10.22	7	\$71.54
10	Engine Degreaser Part #: 85	\$4.00	1	\$4.00
		Shop Supplies (1000%): \$75.00	Tax (8.5%): \$73.44	

- Oil filter housing and cooler gasket & drive belt (N54)					
	Description	Price	QTY	HRS	Subtotal
1	- Installation of oil filter housing, oil cooler gasket & drive belt - Fill cooling system and evacuate air from system - Topp off engine oil - Clean engine bay of residual fluids - Test drive vehicle and verify fluid leak is no longer present			4	\$600.00
2	N54 oil filter housing gasket Part #: 11428637821	\$44.78	1		\$44.78
3	Drive belt	\$46.18	1		\$46.18
4	Belt Tensioner Assymbly Part #: 11287563927	\$135.29	1		\$135.29
5	M8 Stainless Steel Flat Washer Part #: M8SFWA2	\$0.15	1		\$0.15
6	Blue Coolant/ Antifreeze Part #: 21066-0038-99	\$14.85	1		\$14.85
				Tax (8.5%): \$20.51	

- Rear differential re-seal & Differential bushing replacement (E9X)					
	Description	Price	QTY	HRS	Subtotal
1	- Removal and replacement of failed rear pinion seal including replacement of both differential side seals as preventative maintenance - Replacement of rear differential bushings - Drain and fill rear differential - Clean all residual fluid left over from failed seal			6	\$900.00
2	Locking plate Part #: 23211490120	\$4.69	1		\$4.69
3	Pinion Seal Part #: 33107609536	\$9.02	1		\$9.02
4	Differential Seal Part #: 33107505605	\$19.42	2		\$38.84
5	Motul Gear 300 75W90 Part #: 105777	\$28.98	2		\$57.96
6	Differential/Transfer Case Drain/Fill Plug	\$8.46	2		\$16.92



EP3 Motorsports
 1900 East Tyler Road
 suite 500
 St. Charles, IL 60174
 (224) 523-6102
 zack@ep3motorsports.com
 www.ep3motorsports.com

Estimate #10793

Created: 4/1/2024
 Payment Term: On Receipt
 Service Writer: Zack Coombs

- Rear differential re-seal & Differential bushing replacement (E9X)

Part #: 33117525064

Tax (8.5%): \$10.83

Replacement of Thrust Arm Bushings

Description	Price	QTY	Subtotal
1 - Replacement of thrust arm bushings & hardware - Test drive vehicle once four wheel alignment has been performed			\$0.00
2 - Thrust arm bushing set	\$66.96	1	\$66.96
3 - Control Arm Nut Part #: 33306787062	\$5.83	2	\$11.66

Tax (8.5%): \$6.68

Raise front & rear suspension 1/4" per customer request

Description	HRS	Subtotal
1 Raise front & rear suspension 1/4" per customer request	2	\$300.00

- Standard four wheel alignment

Description	HRS	Subtotal
1 - Perform four wheel alignment , check & correct tire pressures	2	\$230.00

Replacement of Front Left & Right RDC Transmitters (E9X)

Description	Price	QTY	HRS	Subtotal
1 - Replacement of Front Left & Right RDC Transmitters - Clear faults & reset TPM			1	\$150.00
2 RDC Transmitter Part #: 36236771042	\$115.00	2		\$230.00
3 Socket Housing Part #: 61138365356	\$5.83	2		\$11.66
4 Contact Bushing with Cable Part #: 61130056384	\$5.66	2		\$11.32
5 Contact Bushing with Cable Part #: 61130056961	\$5.20	2		\$10.40

Tax (8.5%): \$22.39

E-Brake Adjustment

Description	Subtotal
-------------	----------



EP3 Motorsports
 1900 East Tyler Road
 suite 500
 St. Charles, IL 60174
 (224) 523-6102
 zack@ep3motorsports.com
 www.ep3motorsports.com

Estimate #10793

Created: 4/1/2024
 Payment Term: On Receipt
 Service Writer: Zack Coombs

E-Brake Adjustment

1	E-Brake Adjustment			\$0.00
Total:				\$0.00

Replacement Key & Fob

	Description	Price	QTY	Subtotal
1	Key fob remote Part #: 66126986583	\$225.00	1	\$225.00
2	Key Part #: 51217139710	\$55.00	1	\$55.00

Tax (8.5%): \$23.80 XXXXXXXXXX

- Installation of Phenix Racing port injection intake manifold & Motiv Reflex controller

	Description	Price	QTY	HRS	Subtotal
1	- Installation of phoenix racing intake manifold including fuel-it 950cc injector with fuel line - Motiv reflex plus will also be installed at this time utilizing an adapter lead for the ethanol sensor - Prior to returning the vehicle a diagnostic check will be performed on Motiv reflex to ensure proper operation			6	\$900.00
2	- Phoenix Racing N54 Port Injection Intake Manifold with 950cc injectors and fuel line kit	\$1,088.00	1		\$1,088.00
3	- ReFlex PLUS: Advanced I/O Integration - 6 Cylinder (Inline) / BMW N54	\$769.00	1		\$769.00
4	- ReFlex 0-10 Bar Pressure Sensor	\$99.00	1		\$99.00
5	- ReFlex Plug-n-Play Ethanol Sensor Harness	\$45.00	1		\$45.00
6	Motiv short fuel line upgrade kit	\$140.00	1		\$140.00
7	4" Zip Tie Part #: CT208	\$0.01	49		\$0.49
8	Parts shipping				\$25.00
9	Add A Circuit Kit - Mini ATM Fuse Part #: 7822226	\$13.65	1		\$13.65
10	20 AMP Mini Fuse Note: Mini ATM Fuse 20 Amp	\$0.79	1		\$0.79
11	NPT -08 Fitting Part #: 8148-08-2	\$20.23	1		\$20.23
12	11" Zip Tie Part #: MET.UVV2.2340R	\$0.13	2		\$0.26
13	Electrical Pin Socket Part #: 61132359997	\$23.24	1		\$23.24
14	7" Zip Ties	\$0.07	2		\$0.14



EP3 Motorsports
 1900 East Tyler Road
 suite 500
 St. Charles, IL 60174
 (224) 523-6102
 zack@ep3motorsports.com
 www.ep3motorsports.com

Estimate #10793

Created: 4/1/2024
 Payment Term: On Receipt
 Service Writer: Zack Coombs

- Installation of Phenix Racing port injection intake manifold & Motiv Reflex controller

Part #: MET7500

15	Socket Housing Part #: 12527521522	\$12.42	1	\$12.42
16	Rivet, Plastic Blind Rivet Part #: 07142151750	\$2.28	3	\$6.84
17	Lock Insert Part #: 51711916199	\$1.88	2	\$3.76
18	Torx Bolt Part #: 07147549513	\$1.10	2	\$2.20

Tax (8.5%): \$189.13

Installation of Fuel It! Dual Walbro Stage 3 LPFP Upgrade & Flex Fuel Sensor Kit Installation (CUSTOMER SUPPLIED FLEX FUEL KIT)

	Description	Price	QTY	HRS	Subtotal
1	Installation of Fuel It! Dual Walbro Stage 3 LPFP Upgrade & Flex Fuel Sensor Kit Installation (CUSTOMER SUPPLIED FLEX FUEL KIT)			4	\$600.00
2	Fuel It! Dual Walbro Stage 3 LPFP Upgrade (Dual Walbro 450 pumps)	\$999.00	1		\$999.00
3	Solid State Relay Part #: 101-0319	\$59.99	1		\$59.99

Tax (8.5%): \$90.01

Custom Flex Fuel Tuning by Wedge Performance

	Description	Price	QTY	Subtotal
1	Custom Flex Fuel Tuning by Wedge Performance			\$750.00
2	Dyno time cost is to be determined, dyno rental rate is \$275 per hour			\$250.00
3	93 octane/E85 fuel cost to be determined			\$27.00
4	117 Octane E85 Race Fuel Part #: ONE117R-05	\$68.00	6	\$408.00
5	93 octane fuel			\$58.59

Tax (8.5%): \$34.68

Engine block Coolant Pipe Gasket Replacement

	Description	Price	QTY	HRS	Subtotal
1	Engine block Coolant Pipe Gasket Replacement			3	\$450.00
2	Coolant Pipe O-Ring Part #: 11427558936	\$1.55	2		\$3.10
3	Coolant Pipe Gasket Part #: 11537545302	\$10.04	1		\$10.04



EP3 Motorsports
 1900 East Tyler Road
 suite 500
 St. Charles, IL 60174
 (224) 523-6102
 zack@ep3motorsports.com
 www.ep3motorsports.com

Estimate #10793

Created: 4/1/2024
 Payment Term: On Receipt
 Service Writer: Zack Coombs

Engine block Coolant Pipe Gasket Replacement

Tax (8.5%): \$1.12



Installation of VRSF 7.5" Intercooler, Relocated Turbo Inlet Kit & Charge Pipe

Description	Price	QTY	HRS	Subtotal
1 Installation of VRSF 7.5" Intercooler & Relocated Turbo Inlet Kit			5	\$750.00
2 VRSF Intercooler Part #: 10903050	\$579.99	1		\$579.99
3 VRSF Relocated Inlet kit Part #: 10901060	\$329.99	1		\$329.99
4 Charge Pipe		1		\$0.00

Tax (8.5%): \$77.35



Replacement of All Six Fuel Injectors

Description	Price	QTY	Subtotal
1 - Replacement of all Fuel Injectors - Code injectors to vehicle - Clear fault codes - Test drive vehicle			\$0.00
2 Fuel Injectors Part #: 13538616079	\$288.00	6	\$1,728.00
3 Fuel Injector Decoupler Part #: 13537564751	\$6.00	6	\$36.00

Tax (8.5%): \$149.94



Miscellaneous Parts

Description	Price	QTY	Subtotal
1 Map Sensor Part #: 13629797773	\$145.57	1	\$145.57
2 Lifting Jack Pad Part #: 51717123311	\$33.86	1	\$33.86
3 Turbocharger clamp Part #: 11657620508	\$29.99	1	\$29.99
4 Sheet Screws Part #: 07119905017	\$1.43	3	\$4.29
5 Breeze Clamp #32 Note: Hose Clamp	\$2.50	2	\$5.00
6 Breeze Clamp #28 Note: Hose Clamp	\$2.50	2	\$5.00
7 11" Zip Tie Part #: MET.UVV2.2340R	\$0.13	4	\$0.52



EP3 Motorsports
1900 East Tyler Road
suite 500
St. Charles, IL 60174
(224) 523-6102
zack@ep3motorsports.com
www.ep3motorsports.com

Estimate #10793

Created: 4/1/2024
Payment Term: On Receipt
Service Writer: Zack Coombs

Miscellaneous Parts				
8	DEI Exhaust Wrap 2" Part #: 010004	\$1.64	12	\$19.68
9	7" Zip Ties Part #: MET7500	\$0.07	4	\$0.28
10	Breeze Clamp #08 Note: Hose Clamp	\$2.50	3	\$7.50
11	4" Zip Tie Part #: CT208	\$0.01	1	\$0.01
12	Elbow Insert Part #: 41769	\$3.24	1	\$3.24
13	Breeze Clamp #40 Note: Hose Clamp	\$2.50	2	\$5.00
14	Breeze Clamp #12 Note: Hose Clamp	\$2.50	1	\$2.50
15	Coolant Bleed Screw Part #: 11537793373	\$2.72	1	\$2.72
16	Rivet, Plastic Spread Rivet Part #: 51118174185	\$0.96	6	\$5.76
17	Blue Coolant/ Antifreeze Part #: 21066-0038-99	\$14.85	1	\$14.85
18	Spark Plug, ZGR6STE2, Super Plus Part #: 0242140507		6	\$0.00
19	ASA Bolt Part #: 11127544369	\$8.73	1	\$8.73
20	ASA Bolt Part #: 11127556977	\$16.23	1	\$16.23
21	Engine Cover Bolts Part #: 07119906086	\$1.67	3	\$5.01
22	Fuel Injector Seal Part #: 13537584315		6	\$0.00
23	ORing Part #: 11428683168	\$6.96	1	\$6.96
24	2.5mm X 40mm ID O-Ring Part #: 5233T719	\$1.38	1	\$1.38
25	Socket Housing Part #: 61136900536	\$11.20	1	\$11.20
26	Socket Terminal Part #: 12521427612	\$1.47	2	\$2.94
27	Plug Connection Female Part #: 12521436650	\$6.41	2	\$12.82
28	Conductor Seal	\$1.62	2	\$3.24



EP3 Motorsports
 1900 East Tyler Road
 suite 500
 St. Charles, IL 60174
 (224) 523-6102
 zack@ep3motorsports.com
 www.ep3motorsports.com

Estimate #10793

Created: 4/1/2024
 Payment Term: On Receipt
 Service Writer: Zack Coombs

Miscellaneous Parts

	<i>Part #: 12521748973</i>			
29	Grommet <i>Part #: 12527505634</i>	\$1.92	2	\$3.84
30	7" Zip Ties <i>Part #: MET7500</i>	\$0.11	3	\$0.33
31	M10 Stainless Steel Split Lock Washer <i>Part #: M10SLWA2</i>	\$0.33	2	\$0.66
32	Windshield washer pump <i>Part #: 67128362154</i>	\$42.21	1	\$42.21
33	Windshield Washer Pump <i>Part #: 67126934160</i>	\$57.50	1	\$57.50
34	Windshield Washer Pump Grommet w/ Filter <i>Part #: 61667006063</i>	\$33.19	2	\$66.38
35	TPMS Valve Kit <i>Part #: 974-900</i>	\$6.12	1	\$6.12

Tax (8.5%): \$45.16

High Pressure Fuel Pump Replacement

	Description	Price	QTY	Subtotal
1	High pressure fuel pump		1	\$0.00
				Total: \$0.00

Estimates provided are an approximation of timing and charges to you for the services requested. They are based on the anticipated work to be done. It is possible for unexpected complications to cause some deviation from the original quote. You hereby authorize the repair work described in this estimate to be done along with the procurement of the necessary material(s), including permission to operate the vehicle for on-road testing or inspection. If any additional repairs are required, we will prepare a revised work order providing the cost of additional parts and labor and total revised cost. All parts are new unless specified otherwise.

Any and all deposits are non-refundable. No returns or refunds on special ordered items or electrical parts. EP3 Motorsports is not liable for labor or parts warranty for used parts. EP3 Motorsports will accept aftermarket performance components if the manufactures of components falls within the category of preferred vendors.

Parts	
Labor	
Subtotal	

REMAINING BALANCE

P3 Motorsports has the right to refuse the installation of any aftermarket components they wish. EP3 Motorsports does not accept any customer supplied OEM replacement parts/maintenance items, braking components, hardware, gaskets, mounts, electronics ect.

Any failure due to actions outside of our control, such as: other people working on the car, manipulation of tuning data/ECU, failure to follow engine break-in procedure, running low on fluids, pre-existing problems, lack of maintenance or abuse, will be solely at the cost of the owner.

For all motorsport grade engine builds or driveline upgrades EP3 Motorsports will not be responsible for any parts or labor reimbursement in the event of a failure.

If an issue arises, EP3 Motorsports should be the first contact to diagnose the problem. If other people or shops work on or inspect the issue before EP3 Motorsports has an opportunity to, we are no longer liable for any repairs or associated costs. If EP3 Motorsports is the first to inspect and the failure was



EP3 Motorsports
1900 East Tyler Road
suite 500
St. Charles, IL 60174
(224) 523-6102
zack@ep3motorsports.com
www.ep3motorsports.com

Estimate #10793

Created: 4/1/2024
Payment Term: On Receipt
Service Writer: Zack Coombs

caused by workmanship, EP3 Motorsports will take responsibility and make the necessary repairs

You agree that we are not responsible for loss or damage to your vehicle, including loss of articles left in the vehicle, including, without limitation, in case of fire, theft, or any other cause(s) beyond our control. Vehicles that are waiting for repairs to be completed or parts delivery may be park outside in the open elements. Customers will be notified that vehicle will be parked outside during its stay at EP3 Motorsports. Any damage that may occur from weather, animals, or any third party, EP3 Motorsports will note me responsible for. EP3 Motorsports is not responsible for any delays caused by unavailability of parts, delays from third party companies being used to complete large projects or delays in delivery of parts by the supplier or transporter. EP3 Motorsports is not responsible for any delays caused by weather. You have the right to know before authorizing any additional repairs what those repairs will be and what they will cost. If required repairs exceed the authorized estimated amount, we must obtain your approval to perform the repairs. We will keep you informed and perform only repairs authorized by you.

Signature _____